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updatable Timed Automata
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Syntax , semantics , examples ( today)

-

Emptiness problem

-

Expressive power
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Let ✗ be a set of docks
. An
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Example:
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0 < rest dasnical
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Consider the above automaton with c- - transitions . What is its

language
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construct an updatable TA for the previous language that

has no E- transitions-
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Invariant maintained by above automaton :

- After reading
'

a
' at 't

'

,
value of n= I

- After reading
'
bl at

' b'
,

value
of
n= { t}

b

¥÷a
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Because of above invariant : the next
' a' is read at R=2

the next
'

b' is read at Knez
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If the last
' a' seen is at t, + C

,
then

I

ti + Lct becomes the new reference point .
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summary :

- introduction to
updatable 7A.

- Some examples


